KLEA43 (2024 11 7)
XF 26m HHE FF 26m EHF

X4 K4 ilE 244 | [\ X4 K4 T A4 L | [E
IM KT EE |EF4B :20.02| 18 IM |k BE Y= /£ HESC 19.83| 2

N2 |NHE BE EIUHDE :17.30| 17 N2 B e il ST 17.68| 7

N3 |HFEB EAR ENEEEKEr 52— :15.65| 25 N3 (I BBFE a17—SC 16.45| 7

IN B BE a7—SC 14.93| 4 IN|EH EEH aA7—SC :15.25( 4

INS (ANfE EHE JACFENT :14.37| 22 N5 |TES 1A usc 14.19| 24
N6 [BHH FIE a7—SC 13.74| 4 N6 | KH thiE IZNRIE/ P :13.86| 3

1 [FER Ex EIUHDE 14.07| 18 F1 /M RS JACTFENT :12.33| 21
d2 |hE B JACTFENT :13.90| 26 B2 |/hE RO JACTFENT :12.26| 22
3 | K#E HKk hyhL— 1355 25 F3 /M R JACTFENT 12.04( 23
19- |HJIl & JACTFENT :13.94] 17 19- | X¥& —% hAL— :11.29] 25
20+ |RE EHE [EE™ 14.16| 3 20+ | K¥B8 —%% hvhL— 11.34( 27
25+ [WEH BF FNEERKE2— :14.74| 26 25+ (FEEF FOs FRAR—Y :11.68| 17
30+ | Rl BRZE BETH :14.88( 7 30+ [ER A JACTFENT 12.24| 17
35+ |E+E BF |JACTFENT :14.28| 14 35+ [E5)Il #EX ES :12.38( 21
40+ |A+E BBF |JACTE :14.02| 19 40+ |Aron Parker  |&ik& 12.05( 14
45+ [ EHRE [L\ESEAL :14.91| 26 45+ |Aron Parker | KIFHikE& :12.07| 20
50+ [EH =F NASHH :16.13[ 3 50+ |Aron Parker | KIEHEikE :12.56| 25
55+ |AH E&KF |RFAKH :16.04| 10 55+ [/MIl FE SEEEA—ILE :13.78| 27
60+ |=H HBE PN B P S 16.71| 27 60+ |IELL & Kk = 1457 23
65+ |28 FYF |EI HDE :19.95] 20 65+ | KiR B2 JACTFENT :15.18] 27
70+ |BE FYF |EIVHDE :18.73| 21 70+ [/t BHRE Kl 55k &= :15.43| 19
5+ |BE FUF |EIVHDE :20.10| 27 75+ |/hith BRE NP S :16.88| 27
80+ |RH ¥ ENFEK 13 :23.61| 10 80+ [iT)Il #E— AR =YAT (AT :18.12| 19
ZF 50m EHHEF EF 50m BREFE

X5 K4 i@ F4 L | [8] X5 K4 T AL | [|]
M e BE J\KT & /£ HES0 :41.00( 2 M (EH B HER/ 47.04( 27
n2\mE BX I\KRFr%&/£HSq :35.61| 3 IN2 | =F B ML NAS :38.71| 1

INS I 3R 2y /BF :33.52| 7 INS (B R JACFENT :33.68| 21
NI 3RER 2y /BF :32.12| 8 MBS BB CILHDE 3317 9

N5 |2kE EA JACFENT :30.95( 21 IN5 | KPY 8 E 17—SC :30.17| 4

N6 [FHH FIE a7—SC :29.06( 4 N6 |FFK EiF NASH # :2751| 15
1| Fte R Team KOGUMA :28.91| 27 i |FRK 13 NASHH# :26.63| 16
2 | B & DR NAS :28.54 1 2 [K+F thig INFRER :26.32| 5

$3 [NEA BE JACTZENT :28.15| 24 3 [T #H TIUHDE :26.16| 18
19- | X# ®ik hvhL— :28.06( 27 19- KB —% hyhL— :24.04( 25
20+ | RE EHE [EET™ :29.55| 4 20+ | K¥8 —3%% hvhL— :24.04( 27
25+ |fnlE thF FHANFRD :30.46| 10 25+ ([EEF F04 Swim Soleil :25.04| 18
30+ |FZ)Il BAZE BETHR :31.16( 7 30+ |FEIEF FO#4t AXIL :25.63| 22
35+ [/hik FEWD | HhyhL— :29.00| 27 35+ |E5)1 =AlES :26.96( 21
40+ |4 KHFE |EET :31.19| 26 40+ |Aron Parker  |#ik& :25.72| 14
45+ R EHRE |L\ESSAB :31.84| 26 45+ |Aron Parker | KIE#ikE& :25.63( 19
50+ |BE ERF [2VvTEF :33.96 50+ |ILFE EE MAEEA—ILR :27.05| 27
55+ |BHE E&F |[2v7 SC :34.37 55+ [/NIl FE SAREEA—ILR :30.08| 27
60+ | RH #4F NASHH# :42.55| 11 60+ |1l HiE FNFE;RKE 48— :32.04| 22
65+ | HF BERER—Y :43.38| 18 65+ | KiR Bz JACFENT :34.07| 27
70+ | AT WmF Dolphin7 :40.05| 12 70+ [/t BHRE PN 37 $ :35.57| 19
5+ B8 FUF |EIVHDE :45.74| 25 75+ |[FA ¥ ENEEIK 1% :38.38( 16
80+ |EH EF BHRAR—Y :58.61| 20 80+ |iLJIl #E— AT4HIL :40.09| 18
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=ioEx

KF 26m Bk BF 26m &k

X4 K4 g B4 L | [\ X5 K4 BilE A4 L | [E
IM [HE IR FRLm LA :24.14| 16 IM [ &K 87)a1—Y—%- :24.28( 20
N2 (1ER8 #8 JACTFENT :21.85( 21 N2 [iER &K TSS :20.94| 21
N3 (HEEE #@ JACTFENT :18.59| 22 INS | KHE i AT ILEE N :19.10( 15
M |1ERE 48 JACFENT :17.60| 23 INEH R a17—SC 17.72| 4
ING |3 H B TIUHBDE :16.50( 21 N5 I R BJIIR :16.95 22
N6 k<K BE |27—SC 15.68| 4 e (O EA a17—SC 14.84| 7
F1 (NEA B& JACTFENT :15.33| 22 1 (im BE JACTFENT :14.58( 21
2 |NEH BE JACFENT :15.29| 23 d12 |)IliF BE JACTFENT 14.41| 22
F3 [NE BE JACTFENT :14.62| 24 f3 [Jlim BE JACTFENT :13.60( 23
19- |NEA BE CAMTIVTFE :15.03| 26 19- |%H B#&E TIUHDE :13.38( 21
20+ | == EE JACFENT :15.26| 16 20+ |BR EtHA INFHRT :14.03| 16
25+ |BH BH Forest :16.05| 19 25+ (oK —iE LEGAREA :13.96( 27
30+ | BH W& Forest 15.92| 21 30+ |BREE AiE BETH :15.60| 9
35+ |E+E IUHDE :18.59| 17 35+ |{kik st KU E k= :15.12| 21
40+ (LR «KFX (ENAET :18.34| 27 40+ |1EBk =% hyhL— :13.69| 26
45+ |EH #MF EN#EEKtE 2 :20.19| 26 45+ |Aron Parker | KIBHKkE :15.29| 23
50+ (B8 WI'H | bSILAFRE :20.91| 23 50+ |tk BKER |FzARIE :15.54| 27
55+ |BHE E=#&F |[42v7 sC :20.55| 8 55+ |Fly —E BHHRR—Y 17.14( 11
60+ |RE EHF [NASEFHF :23.02| 3 60+ |E#E BIE Web /\FX :18.32( 21
65+ (8 EF SRS L :21.78| 17 65+ |EtE BUE Dz N\FR :19.27| 25
70+ [RAE 'F o3=——X :26.80( 10 70+ |HS BE AR =YAFAANTTH :21.55) 19
75+ |SF T AEY | FERS :27.14| 27 75+ [FLE B SR L :22.99| 26
80+ [%RH BF ENFEK 133 :31.87] 10 80+ [HFT —X SR L :26.36| 25
KF 50m &k EF 50m BEix

X5 K4 il A4 L | [\ X4 K4 il A4 L | [E
M ME BE I\KR#7% /£ HS( :48.95| 2 IM | B8 =2 REYT 48.14| 13
N2 (bt #ERR NASH# 42.08| 4 IN2 (=4 B4 FLLNAS :45.46| 1
IN3 (NI ZEH 2y 7 /BF :37.58| 7 N3 |FEE SR 2y T /BF :39.09| 8
NI 3R Ay T /IF :35.44| 8 INWLE R YRARL3VG 977 :37.97| 16
N5 | B HE Team KOGUMA :34.32| 27 N5 I R BJIIR :36.44| 22
ING |Fieh #DE I :32.23| 26 e (A EA 17—SC :32.03| 7
i (A kb Team KOGUMA :31.42| 27 fi1 [im BE JACTFENT :30.76| 21
F2 [BE =4 NASH F# :33.69( 13 f2 (L BX NASH :30.36( 6
h3 |fEc K BxE |AvT/BRF :33.72| 11 F3 (4B B#E I HDE :29.26( 18
19- |4t 8BTE NASHH :34.60| 15 19- (%@ WE TIUHDE :28.01| 22
20+ |; B M Forest :33.00( 20 20+ |FEIE 2 Ay 7 /BF :27.83| 4
25+ |BH WH Forest :33.04( 19 25+ [fAK —i8 LEGAREA :29.75( 27
30+ [BH H Forest :33.38] 21 30+ |FEIEF FO4E AXIL :29.95| 22
35+ |B+E # IUHDE :39.11| 17 35+ |{&k =% hyhL— :29.86| 23
40+ [AFH fiF F—LLAR :40.36| 22 40+ |1EBE =2 hvhL— :29.58| 27
45+ [EFH fliF ENEERKE 2— :42.60| 26 45+ |1 B TOTO DC :33.74| 17
50+ |#0EF EEF B K% :41.45| 11 50+ |iZJR I NS S :33.18 27
55+ |08y EEF BFH K 41.28| 14 55+ |Bplsy — 72 BHRR—Y :35.79| 11
60+ [18H EXFEF |Forest :42.10| 19 60+ |E1E BIE Web /AT :40.01| 21
65+ [0 EF SRS L :46.56| 15 65+ |t BUE N\ FR :40.89| 25
70+ |K/W R |BIARKR—Y 1:08.17| 23 70+ (HE B SRS L :49.86| 23
75+ [RH BT ENFEK 1 1:02.74 75+ [#& IEFE T AR :56.32| 22
80+ [ H BF EN#E K13 1:08.46 80+ [f8H X KIFEKE 1:07.41] 20
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SRR

ZF 25m FRZF EF 256m FHE
X5 K4 i@ A4 L | | X5 K4 g A4 L | [\
M (HE EM YT /BF :2456| 8 IM (& BE £HMASC :25.68| 2
IN2 | HA FEEF/I :22.29] 10 N2 |tk BE £ HMSC :22.44( 3
INS | EHER BHH EE :19.59| 11 N3 [REE # a17—SC :20.96| 4
M (BEE £B |2vT/BF :18.13| 10 M INE RE N>FRZES :19.21] 18
INS |HER HH I HDE :18.14] 13 N5 |INEF R SaqIL :16.99( 19
M6 (B BRF |2vT/BF :16.87| 11 N6 |IRE BT 2y /BF :16.36| 11
1 |8 = NASH#H :17.89| 12 1 /N RS JACTFENT :15.05( 21
$2 [HE %R Yuuna Kaito :16.98| 23 F12 [H EfF NASHH :15.56( 16
3 [HE iR WmE_H :16.95| 24 Hh3 |Hl B NASHH# :14.20| 17
19- |&E iR HEEK :16.70| 25 19- [H =7 SHIROI :14.33[ 18
20+ #2H EBF ENdRKE - :17.15| 22 20+ (HB%F K1B D JN\FR 14.84| 9
25+ |[E BF ENf:RKtE 42— :17.84| 25 25+ |RLiER 1BHE F—LWF :15.02| 1
30+ |B1E BE ENFEKtE 42— :18.52| 25 30+ |F IEE HE=a2—hv—X :15.55| 15
35+ |EtE BE EN#E;R/KtE2 42— :18.15| 27 35+ [fRK FBB b=k :15.76( 15
40+ [5EH EHE N>FRZEE :21.47| 18 40+ ki £% hyhL— :15.19| 25
45+ | K% BE NS :20.35| 23 45+ |Aron Parker | KIBZik& :15.83| 23
50+ (BRIl &EF KUGZERE :21.23] 27 50+ [Aron Parker |XKIFZikE& :16.36 26
55+ |47 IBF |[Pa=—X :22.14| 20 55+ [{E% F— I\ :18.05| 14
60+ |[RH EEF | IV HOE :24.35| 21 60+ |[EIL 5= PNE S :17.60| 23
65+ |RED F2E VAR IAYOE :21.83| 18 65+ |8 EH Web /\F{t 19.17| 21
70+ |AF A& BHARKR—Y :27.68| 19 70+ [EO ERXK INFHF :20.11| 21
75+ | M REF FU R L :25.91| 16 75+ | @ A o3=—X :21.52( 23
80+ 80+ |fRH FX K iKE :25.34] 19

85+ |AiE AE P3=—X :30.39/ 21
TF 50m FxEFE BF 50m FxF
X5 K4 FiE A4 L | | X5 K4 FiiE A4 L | [A]
M (B £ AT /BF :5458| 8 IM | fER B =2 REYT :50.77| 12
N iBEE £R |AvT/BF 46.41| 8 N2 |1EE EE £HMESC 49.67| 3
IN3 | RiE X85 S HEII :42.63| 17 IN3 (BRI K&k JACFENT :43.91| 21
N |BEE ER |FVT/BF :39.62| 10 MBI '8k JACFENT :40.61| 22
ING | FTIR SRR Team KOGUMA :38.49| 27 N5 |INEF R oaqIIL :37.22| 19
N6 (B BEF |AvTd/BF :36.44| 11 N5 |BRNIL KRBk JACTFENT :37.22( 23
F1 [FiE BE EEFRE :36.74| 4 N6 |IRE BT 2T /BRE :33.96| 11
$2 |HE IR Yuuna Kaito :36.17| 23 1 /M RE JACFENT :33.15| 21
i3 [+&RE 4@ JACTFENT :35.62| 27 2 |/ N RE JACFENT :31.94| 22
19- |50 & a17—SC :3557| 2 H3 /M RE JACTFENT :30.76 23
20+ (X8 BE By TFE :35.82| 14 19- (&= EfF SHIROI :30.17| 18
25+ |¥AE BF ENEER/KtE 42— :38.67| 26 20+ |BF B|E NMR :30.08| 22
30+ [BiE BHE ENfERKtE 42— :41.03| 25 25+ |AH |EE KU ZE k= :29.92( 26
35+ |EE BHE EN#E;R/KE2 42— :39.51| 27 30+ |BF |E KIFE k= :30.41| 27
40+ BB s KIGH K= :36.56| 27 35+ [ KR A I HDE :33.63| 18
45+ | K BEF | KBFEXkE :43.98( 23 40+ [1ERE TEE teams :34.19| 26
50+ |/ EFF  |Forest :46.29] 19 45+ |Aron Parker | KIFZik& :34.93| 21
55+ |/MHR EFDF  |Forest :46.92| 22 50+ |#RE = FREIKE :36.83| 26
60+ (A& HEF|GATLR :52.45| 16 55+ |/hith {@ 3] KU ZE k= :40.26( 21
65+ [ARER & VDTN E-S :47.89| 18 60+ [IELL 2 KIFE K= :38.43| 23
70+ [BEFT WF Dolphin7 :55.93| 12 65+ RO Rk Dz dN\FR 42,71 17
75+ |8 BHEF |BBEAN-vI77 1:10.38] 22 70+ [EO Rk INFHR™ :44.02( 21
80+ 75+ | FE R=F o3=—X :49.96( 23

80+ |#k IEFE T AR :59.36| 26

85+ | Kl Th= PSS EN 1:16.26| 26
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KEECER

ZF 25m /INXIS5A BF 25m /NIITS5L
X5 K4 FiiE B4 L | [\ X5 K4 FiiE A4, | [\
MO HE E Ay /BF -21.69| 8 IM | B8 B B SR/ 21.47| 27
N2 |31 PEIE JACFENT :19.58| 18 IN2 | FBE = f=o YT :19.90| 12
NS |AEE 2y T /BF 16.74| 8 INS |FFIL E TIUHDE :18.01| 18
B2 8F FR/N 16.42| 26 N TEE KE NASHH 17.14| 8
N | EEH T I UHDE :15.36| 15 ING |B5K SeEk RYE: 15.24| 16
/N6 | K¥E HK hyhr— :14.63| 23 ING |E+E E JACFENT :14.56| 22
hi (HE EE NASHH# 14.17| 7 1| RE+E = JACTFENT :13.77| 23
h2 |[FRK EX I MDE :14.48| 19 H2 (BE & TILIJA :12.88| 24
3 BER AE |2vI/BF :14.50| 11 H3 |t%hE BE vIUHDE :13.02| 18
19- [HE HE NASH# 14.11] 12 19- [#HB @S TIUHDE :12.50| 19
20+ AR i LEGAREA :15.52| 27 20+ |#EiR R Ay S FE :12.65| 21
25+ |[BH pH Forest :15.12] 20 25+ |[EEF FO4& Swim Soleil :12.57| 18
30+ | ER Bul:sES :15.56| 26 30+ |EREE A¥E BETH :13.48| 8
35+ |E+E BF [JACFENT :16.24| 14 35+ |1&EE =% hyhL— :12.99]| 23
40+ |E+E BF [JACTFE :15.37| 19 40+ |[fEBE =% hyhL— :12.56| 26
45+ |AF &®A& S :16.60| 27 45+ |Aron Parker | KIEHEik& :13.25] 20
50+ (lkO #F Ay TEF 17.35| 6 50+ |lUF EE SR —ILR 13.81| 27
55+ |AH E&F |WFHIBKKER :16.90] 12 55+ |5RF fiE— FHRR—Y :15.32| 20
60+ | =it HE PN :17.89| 27 60+ |ZH F—E8 |E-/\FHRE :14.65| 25
65+ |FHH FF T AR :20.97| 23 65+ | KR Bz JACTFENT 16.22| 27
70+ |BEFT HF Dolphin7 :22.84( 12 70+ |FE 1 SR Ls :18.15| 22
5+ BB FVF |EIUHOE :26.60| 26 75+ |HE 1 SRS L :19.52| 25
80+ 80+ |[EE A FHRRR—Y :24.40| 17

85+ |RiE A Pa=—X :28.43| 21
KF 50m /I\XI54 EBF 50m /IS4
X5 K4 il 24 L | [@] X5 K4 il A4L | [A]
IN|HRA RETR NASHH 146.61| 3 M |E 2 fzoEYT :46.34| 13
N2 | EE 2y /BF :39.78| 7 N2 | EE M B/ TTiL :43.06| 1
IN3 | Hh#t ZE ENFaBKtE 42— :35.19| 25 IN3 | & f=oEYT :37.81| 12
N | h B B a17—SC :33.72| 4 MR R JACTFENT :35.25| 22
N5 | HE T IR :32.36| 15 NG |RE BRTF 2y /BF :33.45| 10
UNGHES [l V¥ 3 BN :31.29| 26 e |[fRR S NASH # :29.85| 15
Hi (K #E Team KOGUMA :30.02| 27 h1 (K BiE NASEH# :28.28| 16
B2 BER AR |2vI/BF :30.96| 10 B2 |FK =i NASE# :28.48| 17
3 |BER AR |2vI/BF :30.80| 11 h3 |ER EF £ HESCHE :28.42| 23
19- |NEA B= DAMITNTE :29.58| 26 19- [$#HB @S I HMDE :26.43| 21
20+ | R Fi& b7°Y=HLyb :32.87| 7 20+ |B#H EF NMR :26.96| 22
25+ |tkfE EX T—MAI :32.03| 13 25+ |ER Al JACFENT :26.80| 13
30+ | KR Fiz Dz N\FR :32.26| 15 30+ |BREE AiE BETH :28.34| 7
35+ |hik KN BFH K :34.64| 8 35+ |fEiE A0 NS € :29.39| 21
40+ |#2H FIE aFZEEF :34.83| 17 40+ [k =% hvhr— :26.88| 26
45+ 4287 XH#LF  |Forest :48.32| 22 45+ [Aron Parker | KIFZEik& :30.19| 22
50+ |HH, RF EN#a K17 :39.41| 3 50+ 3[R FI PN B3 :30.40| 26
55+ [LUE #F Together :39.36| 26 55+ | M F—BF |€UrSILNFRE :32.00| 23
60+ | AT HfEF B F A7 7K ik BB 1:11.04( 12 60+ |ZH F—H |[E-/\FHRE :31.54| 25
65+ /vy IBF NASE L& :53.14| 12 65+ |F L 13 SRS L :37.73| 17
0+ BB FVF |EIVHOE :55.73 21 70+ | =17 AR :40.23| 23
5+ BB FUF |EIVHOE 1:04.33| 26 75+ | =37 B bk ] :42.99| 27
80+ |[fH EF IR RAR—Y 1:08.16| 20 80+ | KlF Th= SR L 1:14.40| 22
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EL 5

ZF 100m EHFE FF 100m EHF
X5 K4 BilE B4 L | [E X5 K4 i AAL | [E
M [HE R gl LA 1:41.21] 16 IM 8RR B I HMDE 1:52.26| 13
N2 |dEiE B 2y /BF 1:21.70| 7 N2 |BEE PR Dz J% 1:29.44
IN|NHE BE I UMD R 1:16.91] 18 N3 |E B thiE IR 1:16.86
INMINE BE I UMD R 1:11.05[ 19 M ILE FREF YALAL3VY 977 1:12.32| 16
INS | IR B JACTFENT 1:04.83| 22 ING | KPY #8E a17—SC 1:06.09
N6 |NHE BE JACTFENT 1:01.77| 21 N6 |iXE HER 2y /BF 1:02.64 11
1 [NEBE B JACTFENT 1:01.05| 22 e Ny NASH#H :58.35| 16
2 ([RNEA B JACTFENT 1:01.87| 23 2 [FK E1E NASH#H :56.46| 17
3 [NE B JACTENT 1:00.28| 24 H3 | 5B WR I HDE :57.58| 18
19- [FH & a17—SC :59.46( 4 19- [%H B#E I HDE :54.21| 21
20+ |RRE Tz NASEHA 1:07.05| 6 20+ |FA% F#t BIGFENT :54.38| 14
25+ &k BX T—MAI 1:02.05| 13 25+ |FA%F F0# BRIRER :53.71| 19
30+ | R Fiz DI \FHK 1:08.05| 15 30+ |KRR M ENFaK 1% :59.81| 27
35+ |/hik BEW |HhYhHL— 1:01.36| 27 35+ |fkikE F0H KIFE K= :59.38 21
40+ [#2E FE JF3IHE 1:11.19) 17 40+ |Aron Parker | KUEZik& :57.93| 18
45+ (R BEHZE |L\ESSABL 1:15.93| 25 45+ |Aron Parker [ KIGZikE& :58.97| 19
50+ [BH ERF |FVIBF 1:15.88| 6 50+ |Aron Parker | KIBZik% 1:00.75| 27
55+ |AH EHF |EFEG 1:15.32 9 55+ |RHE F—B |€UrSILAFRE 1:05.99( 23
60+ [KH EIF SRS L 1:37.08| 15 60+ |ZE F—BF [E-/\FRE 1:07.83| 26
65+ |fER IFF |[BATLE 1:33.43| 16 65+ [H L ¥ SRS L 1:20.07| 17
0+ B8 FYF [EIUHOE 1:44.16( 22 70+ [HLE B SRS L 1:23.63| 21
75+ [HEH mF SR L 1:41.37| 16 75+ |JRA B SR L 1:32.19] 18
80+ [[H E&EF B RAR=Y977 2:07.05| 21 80+ |f8H ZEX INCE P 1:50.55[ 19
ZF 100m fAAXRL— FF 100m AAXL—
X5 K#£ FiiE AL | E X5 K#£& il A4 L | [A]
/M [T EEE  |TEAM ICHIKAWA|  1:48.03| 16 M (E B f=o REYT 1:40.31| 13
N2 |dBiE HE 2y /BF 1:32.30( 7 N2 |HO e f=2REYT 1:38.70( 25
IN3 | BE EE FHET 1:25.67| 17 INS BRI R JACFENT 1:24.79| 21
IN (N1l Z'H 2By T /BF 1:17.65| 8 NN 'S JACTFENT 1:18.54| 22
N5 ($2EH B TIVHDE 1:16.04| 21 ING IR R 2y T /BF 1:13.79] 10
N6 |HE BE JACFENT 1:09.31| 21 ING [FiZ BEF 2y /BF 1:06.34 11
f1 |RNE BE JACTFENT 1:08.75| 22 B |G ZFE JACTFENT 1:05.44| 21
2 |NE BE JACTFENT 1:08.97| 23 d2 /N RO JACFENT 1:02.70| 22
3 |ER =4 NASH# 1:09.06( 14 F3 (&)l EH NASH# 1:01.95| 17
19- |AEA B= DA(TILTFE 1:06.72| 26 19- |%H #E RER 1:00.51| 22
20+ |¥AH EBF ENFaE Ky 5— 1:15.77| 22 20+ |BH EFE NMR 1:00.01| 22
25+ |filE thF FHNFHKE 1:18.04 11 25+ |BH EBEF PN :59.81| 26
30+ [HBA BF SR L 1:17.32| 22 30+ |BH EF PN R 1:00.72| 27
35+ |k N3k B FH K% 1:17.11| 8 35+ |E2 N @ NASHd#Es & 1:04.13| 17
40+ |2 Bz PNEES S 1:12.38| 27 40+ [{EmBE HEBK teams 1:06.71| 26
45+ AR #F F—LLA 1:32.73| 27 45+ | A1 Bk TOTO DC 1:10.96( 17
50+ [AH E&F |[AvI/BF 1:29.95| 7 50+ |Aron Parker | KIBZik% 1:11.22| 27
55+ |#F K BHE EHAR-Y957 1:26.45| 22 55+ |5z fE— EBHAR-Y957 1:18.97| 22
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